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[The figure in the margin indicates full marks. Candidates are required to give their answers in their
own words as far as practicable.]

Group-A
(Multiple Choice Type Question) 1x15=15
1. Choose the correct aiternative from the following :

(i) Identify the process whereby a person is made immune or resistant to an infectious
disease, typically by the administration of a vaccine

a) Immunization b) nutrition
c) Hospitalization d) Vaccination
(ii) Identify the health care facility that provides both general and specialist examinations
and treatments for a wide variety of diseases and injuries to outpatients and is usually
independent of a hospital.
a) Clinic b) Hospital
c¢) Nursing Home d) polyclinic
(iii) Recall the condition that results from eating a diet in which one or more nutrients are
either not enough or are too much such that the diet causes health problems. It may
involve calories, protein, carbohydrates, fat, vitamins or minerals.
b) Malnutrition

a) Obesity
d) Vaccination

c) Hypertension
(iv) Select the correct one: Car and petrol are
b) complements

a) substitutes
d) necessity

c) inferior
(v) Identify the curves that are derived from income- consumption curves
a) MR curve b) TP Curve
d) MC Curve

c) Engel's curve
(vi) Determine which of the following is rectangular hyperbola.

a) TFC b) AR

c) AFC d) MC
(vii) Determine the factor that relate internal matters of business to Microenvironment
b) Demand of the product

a) Size of the business
d) none of the above

¢) Products Produced



~(viii) Calculate MR when TR= 5Q+100

a)s b) 5Q
¢) 100 d) 10
(ix) TR=TC explains
a) Inflexion b) Break even point
c) Depression d) Recession
(x) Choose the correct one: R and D planning is @ ===-seseccev.. decision,
a) Tactical b) Operational
¢) Strategic d) none of the above
(xi) IF w=100 and L=5 and K=2 and r =2000 then estimate C.
a) C=4500 b) C=3500
¢) C=2500 d) C=4000
(xii) Estimate MC if C=12Q+230
a) 230 b) 12
¢) 12Q dQ

(xiii) Identify the flagship scheme of the Ministry of Skill Development & Entrepreneurship
(MSDE) implemented by National Skill Development Corporation.

a) PMKVY b) INURM
c) NHM d) all the above
(xiv) Trace the shape of the IC curve
a) concave b) convexo concave
¢) convex d) horizontal
(xv) Indicate the correct situation: If there is excess demand then price
a) rises b) falls
c) remains constant d) fluctuates
Group-B

(Short Answer Type Questions)

2. Express the relationship between health infrastructure and the population growth.
3. Explain infant mortality rate.

4. Explain the effect of tobacco and alcohol abuse that contributes to rising health care costs.

5. Define the concept of income elasticity of demand for health care.
6. Explain the implication of selling cost in monopolistic market.
OR
Conclude why ‘health’ is regarded as both a consumption as well as an investment good.

Group-C
(Long Answer Type Questions)

7. Describe different types of externalities with examples.

8. Distinguish between private demand and social demand for health.
9. Examine in what sense the spending on health is an investment.
10. Compare and contrast Infectious and Chronic Diseases.

11. Evaluate whether health is a consumption or an investment good.
12. lllustrate the cost-utility analysis methodology of economic evaluation.

OR

Differentiate between the actual demand curve and the expected demand curve in a
health sector market with monopolistic competition.
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